QN EEUF e RS

B |IZHE | Hisi Ry LIETE *E&E%/ﬁa Kifte
s (17| ens SHTEEER
1 AEREOHRE
REFBH |2A % # B F F R OE)
#E #umE EGa * & 1 B m & ZTOHOEY m &
H 1,200 Z(FEIE) 600 [/KFE(E4%) 200
pu JKFE () 800
1ol Rl i EAUNED) 600
)
(3BHEER)
£ B m O 1 2 3 4 5 6 7 10 11 12
et
o |EUIELE) 600a O
F
A
123
EN
Fl (O B A THE [ e
2 FIREH
BEMNEHS B & ©
THh M, FIA JKH1,120afg th L AFINIRS
FE AT BHRHEH2A HIEHE BITRYLIBIER L
M- TEER R Rl
HEORIS | HHERE, BREAR
BR5E A& JAH T




DO1EBE! (L2 H ZE xlsx

3 @BERY fEE: [FEAE YR RY)LIERE

15 B + %8 g H E B® (7) I & O 5 H
FHIRZE 7,601[E= (7) H26 ~ 30 15 B Y A R E ERfi FRIRZE A Rt E ERfi PEDNES
BRERMESREEXNE 59,815 [#B&fE#135,000 — =% 11,000/ HE$.8610F,/60kg 18115000 5 277.4 274 7,601 0
(A) IR#RET 67,416 0 0
ER 2584|BEEFT 323 X 8kg 0 0
RE# & 7,086| 5% (1) 0 0
EXE 4144[EKR (D) 0
E | ¥ [BAhxE 3446| 5K (T) ol & 277 27.4 7,601
HEMEE [EEEIES) OEEZ (ERD % = ERfi] & # BEEES
NEEE 0 [E1HBB488  20kg 35 1,323 4,631
¥ | # [BEHHSE 3.828| CEFI R EH &K 22% C100kg Z U 1,380H) EE=x= 20kg 50 491 2,455
& |[EYimsk 409 | B 1BMED1% & 0
B ([XKEHS 4,704| B 3B {HE D5% 0
7| & |E EYEE 1,320 0
([ KEHE 14,808 =5 5t 7,086
& | XiEY 0 (D EE n = Hih % & EES
E ((B) Mt & 42,329 BEA 1,466
# Lk BEE-KFIE 0 OIETS ] 0
=EEE N 1,660 |7 ket & x RAHIET IR < RRABLS E (KCEIRAH XTI PRE - 4EEA | 2,678
# | 8 [Zimi 3.207|6,300M/10a x 1,120a X (& JH210/2,200a) EEx 0
B (HEZEFHEA 0 = =t 4144
x EBE 0 (I) R % n = Hih % & & =
& |REFEHE 0| EMIFIRFEFHHELSIZEHS AVUL  (JybL) 1.0 145 145
ERFE £ |[Bd (1)wkJL) 20.4 123 2,506
Z Dt AD[BEED1% A 795 ¥ B D 30 %
(C) BEEST 47,674 ER: (JyhkJL) 0
O B 19,742|(A) — (C) = [{TH (JwkL) 0
QO B = 29[D+A ER (kwh) 4.0 0| REE BT A 2B & (l26 M
Q FrEFERR 6.8 it 3,446
w [CHEHESR n = E £ & ES




DO14ER! [ F2HE xlsx

4 {ER)-E)RI{E£F5RT (102 1Y) B FENE iR F'J)l«%jg
1 2 3 4 | 5 | 6 | 7 8 | 9 | 10 | 11 | 12 | &
£ % 3 t & [ Fl £ & [ F[ £ T & F|l T [ T[] T[T T d] T[] T d [ F[+ d F[E[H]F[E[HF]F[E][HF]F[E]H]TF]
= 558 | o
ETHS 0.17 0.17
FEkECL-fEiE 1.00 1.00
8 - AR - BB RE 0.50 1.00 1.50
MEEHER 0.67 0.67 1.34
T Ah 0.16 0.16
EX 72 0.16 [ 0.16 | 0.16 0.48
AE R 0.67 0.67
IR 1.50 1.50
B35 0.00
FEEL] 0.00
] Bl & 0.83 | 016 | 0.32| 000 0.50 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.67 | 0.00 | 0.00 | 0.00 | 1.50 [ 0.00 | 0.00 | 0.00 | 0.00 [ 0.00 [ 0.00 | 0.00 [ 0.00 [ 0.00 [ 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 1.17 | 0.00 | 1.67 | 0.00 | 0.00 [ 0.00 [ 0.00
A _F 1.31 0.50 0.00 0.67 1.50 0.00 0.00 0.00 0.00 1.17 1.67 0.00 6.82

HELOBER




MDO1#EE (X 1=HZE xlIsx

5 BEEEAREHEIBEENE 8 [ZEhE fERL.  RUJLIBTE
mom | Retme | mow | soms | smew | SER | anms | @eey seos
(1) | (b D (D) W | @oe | T @) | O78/@
EXEE B®E 150 [m 9,000,000 [10,/2200[a] 0.5 40,909 31 1,320
2
Y|
i
5’
b
o
N 9,000,000 40,909 1,320
rSHE— 28ps. 41ps 2 & 8,453,000 |10/2200][a] 0.5 38,423 7 5,489
e (oxr—21)2k [2t 1]& 1,200,000 [10/2200[a] 0.5 5,455 4 1,364
W [/ E/\0— [220cm 1|& 491,000 0 0.0 0 7 0
- [Jo—Fx+z2%4[2000 1]& 216,000 [10/2200[a] 0.5 982 7 140
& [YIovAs— [—& 11& 323,000 |10/2200[a] 05 1,468 7 210
B |FEHHEERE [6FXMER 1[& 2,376,000 0 0.0 0 7 0
AN 4%, 33ps 1]& 6,135,000 [10,/2200[a] 0.5 27,886 7 3,984
BT 30H 2 & 3,900,000 0 0.0 0 7 0
B AT 1|8 805,000 0 0.0 0 7 0
ERETER |1.2by 1[& 301,000 0 0.0 0 7 0
MERRIETERE |85 1[& 710,000 [10/1200[a] 0.8 5,917 7 845
rSwy 800kgFE 1]& 1,515,000 [10/2200[a] 0.5 6,886 5 1,377
Br5vy 350keFE 1]& 800,000 [10/2200[a] 0.5 3,636 4 909
BERE 30psiE A 1|8 465,000 [10/2200[a] 0.5 2,114 7 302
WAEBEE RS (4. Tps 1]& 290,000 [10/2200][a] 0.5 1,318 7 188
N EFt 27,980,000 94,085 14,808
X
)
}E
Y|
N F 0 0 0
a8 _§ 36,980,000 134,994 16,128




